
SAP ABAP table WRF_TEXTILE_FIBR {Textile Components with their Fibers}

WRF_TEXTILE_FIBR

MANDT [CLNT (3)]

MATNR [CHAR (18)]

TEXTIL_COMP_POS [NUMC (2)]

TEXTIL_FIBR_POS [NUMC (2)]

FIBER_CODE [CHAR (3)]

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]
 WRF_TEXTILE_FIBR-MATNR = MARA-MATNR 0..N

1 WRF_FIBER_CODES

MANDT [CLNT (3)]

FIBER_CODE [CHAR (3)]

 WRF_TEXTILE_FIBR-FIBER_CODE = WRF_FIBER_CODES-FIBER_CODE 
0..N1

WRF_TEXTILE_COMP

MANDT [CLNT (3)]

MATNR [CHAR (18)]

TEXTIL_COMP_POS [NUMC (2)]

 WRF_TEXTILE_FIBR-TEXTIL_COMP_POS = WRF_TEXTILE_COMP-TEXTIL_COMP_POS 

0..N

1


